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Unit 8, Week |, Lesson 4

* Example

stamps does Nabil have than Amal?

b 56 cars are in the car park in the morning. Half are gone by lunchtime.
How many are left?

¢ A pizza is split into slices and eaten. Johan eats 8 slices of pizza and
May eats 12 slices of pizza. How many slices in the whole pizza?

B |
l 5
8x3=24
llenge
Read the clues to find the numbers.
a It is twelve times b Itlsd@ﬁbles and ¢ Itis 20 times larger
larger than 4. 4 more. than 3 multiplied by 2.
d Itis double 8 and e Itis 5 less than f Itis 5 times more
double 8 again. 25 divided by 5. than 9.
g Itis half of 64 hltlsthesumef_ | i Itis the same as
and half again. - 40 divided by 8 and 9 multiplied by 4 and
24 divided by 4. 3 multiplied by 12.
ﬁ a Nabil has 64 stamps. Amal has 8 stamps. How many times more ( ‘
|

d The cook has 40 biscuits. He needs 8 times more for the packed lunches.
How many biscuits does he need in total? A

e 27 cakes are shared between 9 children. How many for each child?
If cakes cost 40p each, how much did each child pay?




